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SILERLXAHEEERARR

% IR - KT B £ & %

B R 6,547,350 + 160, 068 6,707, 418
EEAGE 6, 547, 350
ERRE 160, 068

T DR 6,547,350 x 53.85% ( 35% + (1 — 35%) ) 3,525, 747

EBRM 6,707,418 + 3,525,747 10, 233, 165

—REREF 10,233,165 x 53.85% ( 35% + (1 — 35%) ) — 3,724 5,506, 835

E3 it 10,233,165 + 5,506, 835 15, 740, 000

HERSEELE 15,740,000 x 10.00% 1,574, 000
£BEEH 15,740,000 + 1,574,000

17, 314, 000
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SILERLXAHEEERARR

£ # I - ok ik B = f ¢ ® HE
BRI 6,707, 418
HE - BI% - RESEB 6,707, 418
AEHESHELEE 6,707, 418
5 FE 6, 547, 350
HEER 415, 450
1 5@ - E 1.00 415, 450 415, 450
=
AHRE - BE 518, 500
2 BRERBRROEE 1.00 518, 500 518, 500
=
ARBEER 3,787, 750
3 ANBEENREOREY 1.00 562, 500 562, 500
=
4 EREGEE R 1.00 3,225, 250 3,225, 250
=
ANBBERREOR 833, 800
5 AABEERREORE 1.00 833, 800 833, 800
=
REH 451, 350
6 EBEREEER 1.00 433,550 433,550
=
T AHRRERER 1.00 17,800 17, 800
=
il - W& 540, 500




BEARE EILBRILMRBREEERAES

8 HEATIHE 1.00 117, 400 117, 400

G
9 FRERE 2.00 117, 400 234, 800

B
10 R¥E|E 1.00 188, 300 188, 300

G
EERE 160, 068
=HARE 60, 068
1 EHARE 1.00 60, 068 60, 068

=
DS 100, 000
12 XBHER 1.00 100, 000 100, 000
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&S 1
275 EHE - R 1KLY
% R R - BIKTE BT o = i ] 5 &
ek
A 1.00 70, 900. 00 70, 900
FEBER (GRED
A 1.50 62, 200. 00 93, 300
A (A)
A 2.50 55, 200. 00 138, 000
BAm (B)
A 2.50 45, 300. 00 113, 250
& & 1E%8ER : 1.00 415, 450. 00 415, 450
5:2
&% . KM EJSREDODER 1XHY
% L3 G - AKT i B B = il ] w &
BEf (A)
A 3.00 55, 200. 00 165, 600
AR (B)
A 5.00 45, 300. 00 226, 500
E5 200y
A 4.00 31, 600. 00 126, 400
& & YE¥mEA : 1.00= 518, 500. 00 518, 500
&5 :3
2 BNBREESRROHER 1Ly
% R G« AT By B = il ] H &
HEm (B)
A 5.00 45, 300. 00 226, 500
HEm (C)
A 5.00 35, 600. 00 178, 000
E5 200y
A 5.00 31, 600. 00 158, 000
& b EZ%REA : 1.00= 562, 500. 00 562, 500
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&S 4
&5 BNEIEEREN 1XEY
% R R - BIKTE BT = B ] 5 &
FIEBER (GRED
A 6.00 62, 200. 00 373, 200
A (A)
A 26. 50 55, 200. 00 1,462, 800
A (B)
A 10. 50 45, 300. 00 475, 650
BAm (C)
A 23.00 35, 600. 00 818, 800
Bifi&
A 3.00 31, 600. 00 94, 800
& b YE%8EA : 1.00 3,225, 250. 00 3,225, 250
&S :5
& BRNBREEREROR 1xXHY
% fu G« KT By = B {f | " &
EXEETIEH))
A 3.00 62, 200. 00 186, 600
A (A)
A 3.00 55, 200. 00 165, 600
A (B)
A 4.00 45, 300. 00 181, 200
BAm (C)
A 4.00 35, 600. 00 142, 400
E5 200y
A 5.00 31, 600. 00 158, 000
& b YEZ%REA : 1.00 833, 800. 00 833, 800
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&S :6
B ERTERBEEER 1KLY
% R R - BIKTE BT = B ] 5 &
FIEBER (GRED
A 1.50 62, 200. 00 93, 300
A (A)
A 2.50 55, 200. 00 138, 000
A (B)
A 2.50 45, 300. 00 113, 250
BAm (C)
A 2.50 35, 600. 00 89, 000
& & 1E%8ER : 1.00 433, 550. 00 433, 550
5:17
2% NFARRSER 1XHY
% L3 G - AKT i B = B ] w &
AR (C)
A 0.50 35, 600. 00 17, 800
& b E%mER : 1.00= 17, 800. 00 17, 800
&S :8
&7 . BATHE HEED)
% fa G« KT By = B 2] H &
FEHEAER (555D
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
& it YE%5EA : 1.00E 117, 400. 00 117, 400
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&5 :9
¥ PRHRE HEED)
& R g - KA Bifsy = B ) ik &
F{EHEAR (3%EH)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
= it 1E%8E : 1.00[E] 117, 400. 00 117, 400
H#5:10
£ RRERE 1EHY
£ R B - BIKTIR Bifsy = B ) ik &
RETR
A 1.00 70, 900. 00 70, 900
F{EHERAR (35
A 1.00 62, 200. 00 62, 200
BeAm (A)
A 1.00 55, 200. 00 55, 200
= it %8 : 1.00[E] 188, 300. 00 188, 300
&5 1
2 EHAMRE 1KY
4 o B - BIKTIR Bifsy = B ) ik &
BEHRARE
= 1.00 60, 068. 00 60, 068
= it %8 : 1,00 60, 068. 00 60, 068
&5:12
&5 EBHES -
% ] B - ARTE BAfg 2 B ] " =
E3 T
= 1.00 100, 000. 00 100, 000
= it %8N : 1. 00X 100, 000. 00 100, 000




